Convert 430 centimetres into metres.

Convert 3.5 kg into grams.

Convert 450 ml into litres.

Convert 6500 metres into kilometres.

Convert 900 grams into kilograms.

Convert 8 litres into millilitres.

Convert 9.1 centimetres into millimetres.
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A jug contains 681 millilitres of juice
Ruby pours out half a litre.

How much juice is left?

681 - 500
181 ml

Megan walks 500m each day.

How many kilometres does Megan walk in 7 days?

500 x 7 = 3500 35 km

A box contains 1.8 kg of washing powder.

Washing
Powder

1.8kg

1800 g

Bruce uses 60 grams of washing powder for each wash.

He uses all of the powder.

How many washes did Bruce do?
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30 washes
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